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MATH 172, FALL 2017
FEXAM I-VERSION A[{

SECTION NUMBER;:

DIRECTIONS:

i.
2.

The use of a calculator, laptop or computer is prohibited.

TURN OFF cel! phones and put them away. If a cell phone is seen during the exam, your exam will be collected
and you will receive a zero.

This exam consists of 11 multiple choices questions worth 4 points each for a total of 44 points and 4 work out
problems worth 14 points each for a total of 56 points.

In Part A (Problems 1-11}, mark the correct choice on your ScanTron using a No. 2 pencil. For your own records,
also record your choices on your exam!

In Part B (Problems 12-15), present your solutions in the space provided. Show all your work neatly and concisely
and elearly indicate your final answer by bozing i, You will be graded not merely on the final answer, but also on
the quality and correctness of the work leading up to it.

. You must turn in both your exam and your scantror.

Be sure to write your name, seciion number and version letter of the exam on the SeanTron form.

THE AGGIE CODE OF HONOR

“An Aggie does not lie, cheat or steal, or tolerate those who do.”

Signature: K(—E\{
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Problems { Points Awarded | Points
1-11 44
12 14
13 14
14 14
15 14
TOTAL 100




13. (14 points) C‘(_:m . Qhu’\ .b)
DA

(a) (6 points) Give all the antiderivatives of the funcsion f{y) =y n{y)-
" 2 2 2
N = Yy~ |\ ddy = 1
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(b) (8 points) Using the method of cylindrical shells, compute the volume V of the solid obtained by rotating

about the z-axis the region enclosed by the curves y = ef, z=0and y=3.
~—
/ﬁ s




PART B
12. (14 points)

(a) (4 points) State the integration by parts theorem.
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(b) (10 points) Let f and g be twice differentiable functions on [0, 2] such that f” and ¢” are continuous on (0,2].
If £{0) = g(0) = 0, show that Jo f@)g" (2)dz = f(2)g'(2) — F'(2)g(2) Jffn F2)g(x)dz
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14. (14 points)

(a) (4 points) fz = 56_55(—9) with 0 < 8 < E. Express sin(f) in terms of z.
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b) (10 points) Give all themntizterivatives of The function f(z) = ——
(b) (10 points) L &= 2 75
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15. (14 points)

{a} (4 points) Let ¢ = tan(£) with —= < # < 7. Compute % in terms of £.
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(b) {4 points) Let ¢ = tan{£) with —x < 8 < . Show that cos(f) = ;—iz
(Hint: You can use that cos(d} = 2cos?(£) — 1.)
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(c) (6 points) Using Weierstrass substitution give all the antiderivatives of the function f(@) = os(0)’
oS
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